
MATHS

BOOKS - MBD

RATIONAL NUMBERS

Example

1. Using appropriate properties find :

Watch Video Solution

− × + − ×
2

3

3

5

5

2

3

5

1

6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8IPCFKvK1R9z


2. Using appropriate properties find :

Watch Video Solution

× ( − ) − × + ×
2

5

3

7

1

6

3

2

1

14

2

5

3. Write the additive inverse of each of the

following :

2/8

Watch Video Solution

https://dl.doubtnut.com/l/_8IPCFKvK1R9z
https://dl.doubtnut.com/l/_TGmOGXS2cbjY
https://dl.doubtnut.com/l/_z8i68P5AFLDt
https://dl.doubtnut.com/l/_9m3l1W5pLBoC


4. Write the additive inverse of each of the

following :

-5/9

Watch Video Solution

5. Write the additive inverse of each of the

following . 

Watch Video Solution

−6

−5

https://dl.doubtnut.com/l/_9m3l1W5pLBoC
https://dl.doubtnut.com/l/_rmPL8NmRnDjI


6. Write the additive inverse of each of the

following . 

Watch Video Solution

2

−9

7. Write the additive inverse of each of the

following :

19/-6

Watch Video Solution

https://dl.doubtnut.com/l/_ymnhueW3A1R6
https://dl.doubtnut.com/l/_qidSlJlhJv8W


8. Verify that – (– x) = x for. 

Watch Video Solution

x =
11

15

9. Verify that : -(-x) = x for :

Watch Video Solution

x = −
13

17

10. Find the multiplicative inverse of the

following : -13

https://dl.doubtnut.com/l/_BSLAEgXrgDrO
https://dl.doubtnut.com/l/_tNB2wIE74gyQ
https://dl.doubtnut.com/l/_sBxBbK07ygdd


Watch Video Solution

11. Find the multiplicative inverse of the

following : 

Watch Video Solution

−13

19

12. Find the multiplicative inverse of the

following : 

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_sBxBbK07ygdd
https://dl.doubtnut.com/l/_KPG7hjJXe17c
https://dl.doubtnut.com/l/_6dZ85R0MaHbp
https://dl.doubtnut.com/l/_KgNaY2hxOi24


13. Find the multiplicative inverse of the

following : 

Watch Video Solution

×
−5

8

−3

7

14. Find the multiplicative inverse of the

following : 

Watch Video Solution

−1 ×
−2

5

https://dl.doubtnut.com/l/_KgNaY2hxOi24
https://dl.doubtnut.com/l/_ym2oK7IpQbEb


15. Find the multiplicative inverse of the

following : -1

Watch Video Solution

16. Name the property under multiplication

used in each of the following.

Watch Video Solution

× 1 = 1 × = −
−4

5

−4

5

4

5

https://dl.doubtnut.com/l/_iFGGeUI08aRw
https://dl.doubtnut.com/l/_ZDJjYq9xAm2M


17. Name the property under multiplication

used in each of the following.

Watch Video Solution

− × = ×
13

17

−2

7

−2

7

−13

17

18. Name the property under multiplication

used in each of the following.

Watch Video Solution

⋅ = 1
−19

29

29

−19

https://dl.doubtnut.com/l/_RPXvRAv6YMAL
https://dl.doubtnut.com/l/_QhzdJoJ2ayUW
https://dl.doubtnut.com/l/_JXEP62JaYW9B


19. Multiply  by the reciprocal of 

Watch Video Solution

6

13

−7

16

20. Tell what property allows you to compute

as 

Watch Video Solution

× (6 × )
1

3

4

3
( × 6) ×

1

3

4

3

21. Is  the multiplicative inverse of ?

Why or why not?

8

9
−1

1

8

https://dl.doubtnut.com/l/_JXEP62JaYW9B
https://dl.doubtnut.com/l/_fk8xcGNOBMUA
https://dl.doubtnut.com/l/_tN4p1WBoCQtj


Watch Video Solution

22. Is 0.3 the multiplicative inverse of ? Why

or why not?

Watch Video Solution

3
1

3

23. The rational number that does not have a

reciprocal.

Watch Video Solution

https://dl.doubtnut.com/l/_tN4p1WBoCQtj
https://dl.doubtnut.com/l/_NdlZwTzxS99u
https://dl.doubtnut.com/l/_STxJVGyIJJcH
https://dl.doubtnut.com/l/_VoYNvpuuORVk


24. The rational numbers that are equal to

their reciprocals.

Watch Video Solution

25. The rational number that is equal to its

negative.

Watch Video Solution

26. Fill in the blanks : Zero has ________

reciprocal.

https://dl.doubtnut.com/l/_VoYNvpuuORVk
https://dl.doubtnut.com/l/_9cbT00rQwJhM
https://dl.doubtnut.com/l/_gEu5fOlvnE52


Watch Video Solution

27. Fill in the blanks :

The numbers ……….. And ………….. Are their own

reciprocals.

Watch Video Solution

28. Fill in the blanks :

The reciprocal of -5 is …………… .

Watch Video Solution

https://dl.doubtnut.com/l/_gEu5fOlvnE52
https://dl.doubtnut.com/l/_tAT2p0Kf3Mrn
https://dl.doubtnut.com/l/_fLHEk2WED6ps


29. Fill in the blanks :

Reciprocal of 1/x, where x  is …………… .

Watch Video Solution

≠ 0

30. Fill in the blanks :

The product of two rational numbers is always

a …………… .

Watch Video Solution

https://dl.doubtnut.com/l/_fLHEk2WED6ps
https://dl.doubtnut.com/l/_RoZBuK2Yw5Yv
https://dl.doubtnut.com/l/_llrhqRSSXkGt
https://dl.doubtnut.com/l/_H6iMqw0xUR8T


31. Fill in the blanks :

The reciprocal of a positive rational number is

………… .

Watch Video Solution

32. Find using distributivty :

Watch Video Solution

( − × ) + ( − × − )
3

4

2

3

3

4

5

6

https://dl.doubtnut.com/l/_H6iMqw0xUR8T
https://dl.doubtnut.com/l/_gHeQy1hMcQF3


33. Find using distributivty :

Watch Video Solution

( − × ) + ( − × )
2

3

5

6

2

3

7

2

34. Using Appropriate properties find :

.

Watch Video Solution

× − − − ×
2

3

3

7

1

14

3

7

3

5

https://dl.doubtnut.com/l/_HRE6O5DVEbiM
https://dl.doubtnut.com/l/_ZhskBU2hoc8W


35. Find the additive inverse of each of the

following :

1/3

Watch Video Solution

36. Find the additive inverse of each of the

following :

Watch Video Solution

23

9

https://dl.doubtnut.com/l/_PRlInirpUfXK
https://dl.doubtnut.com/l/_glVH18MiK7K4


37. Find the additive inverse of each of the

following :

Watch Video Solution

−
3

11

38. Find the additive inverse of each of the

following :

−
8

−7

https://dl.doubtnut.com/l/_glVH18MiK7K4
https://dl.doubtnut.com/l/_6z0VPLXrLWAm
https://dl.doubtnut.com/l/_6N2F1IeauEkO


Watch Video Solution

39. Verify that :-(-x) = x for 

Watch Video Solution

x =
13

17

40. Verify that :-(-x) = x for 

Watch Video Solution

x = −
21

31

https://dl.doubtnut.com/l/_6N2F1IeauEkO
https://dl.doubtnut.com/l/_iJPveBNAl2cB
https://dl.doubtnut.com/l/_XRjECHOWuk6y


41. Find the multiplicative inverse of the

following : 

12

Watch Video Solution

42. Find the multiplicative inverse of the

following : 

-8

Watch Video Solution

https://dl.doubtnut.com/l/_XRjECHOWuk6y
https://dl.doubtnut.com/l/_VG4w2zKly4hN
https://dl.doubtnut.com/l/_Fs8jmyonMm5p


43. Find the multiplicative inverse of the

following : 

5/16

Watch Video Solution

44. Find the multiplicative inverse of the

following : 

https://dl.doubtnut.com/l/_Fs8jmyonMm5p
https://dl.doubtnut.com/l/_zHPqzmtO2Hoq
https://dl.doubtnut.com/l/_gqM9SyNihGGs


-14/17

Watch Video Solution

45. Name the property under multiplication

used in each of the following :

(-3/16 x 8/15) = (8/15 x -3/16)

Watch Video Solution

https://dl.doubtnut.com/l/_gqM9SyNihGGs
https://dl.doubtnut.com/l/_07rFIBfWm2Dw


46. Name the property under multiplication

used in each of the following :

Watch Video Solution

x( × − ) = ( × ) × −
2

3

6

7

14

15

2

3

6

7

14

15

47. Name the property under multiplication

used in each of the following :

5/6x(-4/5 + +-7/10)=(5/6 x -4/5) +(5/6 x -7/10)`

Watch Video Solution

https://dl.doubtnut.com/l/_h8sFvn94JVnu
https://dl.doubtnut.com/l/_3tkM1fZWhsay
https://dl.doubtnut.com/l/_WwEb9tUSwkyt


48. Multiply -7/19 by the reciprocal of 5/13.

Watch Video Solution

49. Tell what property allow you to compute :

Watch Video Solution

× (8 × )as( × 8) ×
3

4

2

5

3

4

2

5

50. Represent these numbers on the number

line. 
7

4

https://dl.doubtnut.com/l/_WwEb9tUSwkyt
https://dl.doubtnut.com/l/_gSvkcQTLUDnR
https://dl.doubtnut.com/l/_po91IHpb46mP


Watch Video Solution

51. Represent these numbers on the number

line. 

Watch Video Solution

−5

6

52. Represent , ,  on the number

line.

Watch Video Solution

−2

11

−5

11

−9

11

https://dl.doubtnut.com/l/_po91IHpb46mP
https://dl.doubtnut.com/l/_RUbm9wsUV2DC
https://dl.doubtnut.com/l/_gtnr04oohu6v
https://dl.doubtnut.com/l/_E40udPbUBIQI


53. Write five rational numbers which are

smaller than 2.

Watch Video Solution

54. Find ten rational numbers between 

and .

Watch Video Solution

−2

5
1

2

55. Find five rational numbers between  and 
2

3
4

5

https://dl.doubtnut.com/l/_E40udPbUBIQI
https://dl.doubtnut.com/l/_BJKv4cURJcF1
https://dl.doubtnut.com/l/_K0RxSB9QJZ03


Watch Video Solution

56. Find five rational numbers between 

and 

Watch Video Solution

−3

2
5

3

57. Find five rational numbers between  and 

Watch Video Solution

1

4
1

2

https://dl.doubtnut.com/l/_K0RxSB9QJZ03
https://dl.doubtnut.com/l/_dusi25sGQv5z
https://dl.doubtnut.com/l/_Hb1KXAsNBI6K
https://dl.doubtnut.com/l/_A37PpTXGEnL1


58. Write five rational numbers greater than -2.

Watch Video Solution

59. Find ten rational numbers between  and 

Watch Video Solution

3

5
3

4

60. Represent the following numbers on the

number line :

https://dl.doubtnut.com/l/_A37PpTXGEnL1
https://dl.doubtnut.com/l/_treibMWdB16K
https://dl.doubtnut.com/l/_l1kjTxQeVU3R


-1/3

Watch Video Solution

61. Represent the following numbers on the

number line :

2/7

Watch Video Solution

62. Represent the following numbers on the

number line :

https://dl.doubtnut.com/l/_l1kjTxQeVU3R
https://dl.doubtnut.com/l/_x4vCzfPveemU
https://dl.doubtnut.com/l/_MiUj92wkA8Bx


7/2

Watch Video Solution

63. Represent the following numbers on the

number line :

-3/7

Watch Video Solution

64. Find a rational number lying between 1/3

and 1/2.

https://dl.doubtnut.com/l/_MiUj92wkA8Bx
https://dl.doubtnut.com/l/_HDqG0j14KT59
https://dl.doubtnut.com/l/_sY74LrmEoENk


Watch Video Solution

65. Find a rational number lying betewen 3

and 4.

Watch Video Solution

66. Find three rational umber lying between

2/3 and 3/4

Watch Video Solution

https://dl.doubtnut.com/l/_sY74LrmEoENk
https://dl.doubtnut.com/l/_RmFKbKeItEn3
https://dl.doubtnut.com/l/_tsil2JGtlIJP
https://dl.doubtnut.com/l/_Hgu21EJm5Bdf


67. Find any ten rational numbers between

 and .

Watch Video Solution

−5

6

5

8

68. Find three rational numbers between 

and .

Watch Video Solution

1

4
1

2

https://dl.doubtnut.com/l/_Hgu21EJm5Bdf
https://dl.doubtnut.com/l/_iksaEwdlhyNH


69. Find three rational numbers between -2

and 0.

Watch Video Solution

70. Find two rational numbers between 1/5

and 1/2.

Watch Video Solution

https://dl.doubtnut.com/l/_wz88Z0iM9sJH
https://dl.doubtnut.com/l/_I0jxoiix1t6d


71. Find seven rational numbers between 1/3

and 1/2.

Watch Video Solution

72. The additive inverse of 2/8 is :

A. 

B. 

C. 

D. 

−
2

8

−
2

−8

8

2

−
8

2

https://dl.doubtnut.com/l/_Gvn2VfiyywbA
https://dl.doubtnut.com/l/_HVkNND2GLCXB


Answer:

Watch Video Solution

73. Find the multiplicative inverse of the

following : -13

A. 

B. 

C. 

D. .

13

1

13

−
1

13

−
13

1

https://dl.doubtnut.com/l/_HVkNND2GLCXB
https://dl.doubtnut.com/l/_sUm8ef4RnmQo


Answer:

Watch Video Solution

74. Multiply  by the reciprocal of 

A. 

B. 

C. 

D. 

Answer:

6

13

−7

16

6

16

−
6

7

91

96

−
96

91

https://dl.doubtnut.com/l/_sUm8ef4RnmQo
https://dl.doubtnut.com/l/_g8vVpxkQSA7W


Watch Video Solution

75. The reciprocal of 8/21 is :

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

−
8

21

21

8

−
21

8

https://dl.doubtnut.com/l/_g8vVpxkQSA7W
https://dl.doubtnut.com/l/_7GL3HJsR9rWd


76. The reciprocal of -5 is ........... . The blank

space is filled by :

A. 

B. 5

C. 

D. 1

Answer:

Watch Video Solution

1

5

−
1

5

https://dl.doubtnut.com/l/_7GL3HJsR9rWd
https://dl.doubtnut.com/l/_l11hYeACITl0
https://dl.doubtnut.com/l/_iKG8nfNLBwrT


77. Fill in the blanks : Reciprocal of , where

 is ________.

A. x

B. 

C. 1

D. 

Answer:

Watch Video Solution

1

x

x ≠ 0

−x

−
1

x

https://dl.doubtnut.com/l/_iKG8nfNLBwrT
https://dl.doubtnut.com/l/_qJPPDlGYe8GQ


78. The reciprocal of a postitive rational

number is .... .The blank space is filled by :

A. Negative

B. Zero

C. 1

D. Positive.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qJPPDlGYe8GQ


79. A rational number between 1 and 2 is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

2

3

3

2

1

3

https://dl.doubtnut.com/l/_ics4Xvg8GYQu


80. The rational number between 1/4 and 1/2 is

:

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

3

2

3

4

3

8

1

8

https://dl.doubtnut.com/l/_6K0YHaWSiteo
https://dl.doubtnut.com/l/_ZNj9hA1kTDxG


81. A rational number between 3/8 and 1/2 will

be :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5

8

7

16

5

16

3

16

https://dl.doubtnut.com/l/_ZNj9hA1kTDxG

